AZ: THLOIE A S IEE R
MM OIME AT | PE
CHol: OIF 23} QIT2} Sat (chol @)
A2 2N - BB O9(E) - HISAY - BES il v ol o HlDE2
WERIESE 146,365,192 143,427,357 2,937,835
= 6,986,940 7,466,940 A480,000
2 69,008,000 69,008,000 0
= 730,000 0 730,000
A 582,940 582,940 0
= 69,057,312 66,369,477 2,687,835
OF I T 24 1} 23,175,883 21,945,883 1,230,000
= 620,000 600,000 20,000
A 378,440 378,440 0
= 22,177,443 20,967,443 1,210,000
OlFEH AAC JlE 1 1,006,500 976,500 30,000
=2 620,000 600,000 20,000
A 120,000 20,000 0
= 266,500 256,500 10,000
OIFl 23t QITat B4l 923,700 893,700 30,000
= 620,000 600,000 20,000
A 120,000 20,000 0
< 183,700 173,700 10,000
LS ABIH 25X SH 112,000 12,000 0
201 LEr2 | 75,000 85,000 10,000
01 AR 22| 75,000 85,000 10,000
OIFE L SHEEZ 100 24 FZ 60,000 70,000 10,000
301 LBHBAEI 37,000 27,000 10,000
14 JIEHS AL 10,000 0 10,000
OIFE L SHEEZ 1006 24 S 10,000 0 10,000
ROPHs AFHAHS AHDF(2]) 20,000 0 20,000
= 20,000 0 20,000
308 XHXISHHISOI & 20,000 0 20,000
= 20,000 0 20,000
0l HXSHBARES 20,000 0 20,000
OFO0I= QFFAHS AFDS 20,000 0 20,000
= 20,000 0 20,000
HHTHS OHE DS X2 0,000 0 10,000
408 XX SIS X0/ H 0,000 0 0,000
01 MXISH =L E 10,000 0 10,000
OMHTS AENSE XY 10,000 0 10,000
TLHOLE ARIXICH HIZEH £ 2,003,302 893,302 1,200,000
A 258,440 258,440 0
= 1,834,862 634,862 1,200,000
e OFF DUIER! 23 2,003,302 893,302 1,200,000
A 258,440 258,440 0
= 1,834,862 634,862 1,200,000




2 THeorE Al A QHEE I,

2 TS AKX Mz =&
CHRls T ot ZLIEE 2st

AR R4 - B SAE) - HRAY - BES il v ol ® o
AIDIBE THEFHEIOIY CHIs AIAE 2= 1,200,000 0
403 XX SHHSK=01A 1,200,000 0
01 XISHAE2ER 1,200,000 0
OAIDIE MEZ0E CHls AIAE 2= 1,200,000 0




